epaurant,x =AXRMI0O) 4 (61
A|i"“ H;-‘qliil".m“'-v: {7 K RM’:(]) () 5 |
AR
Coat

(j 9 }(2"““ :

LPKN/ L QLM
| (rﬂ |5¢cm .
» s f=F5em
oL
cos v = 3
- | ]
0 = cos (*,5‘)

g = 70.53° or 70° 32'

Volume of FGK
' 1,2
— —(mr*h)
4

__:_l_,(.2_2-x52x7)
47

_1 2x25><7)
47
=137i2cm3

Volume of ABGF
|

== )5 x 7
[2(10+ )]

5
O 15 X7
2( )
2325
2
=y L 4
=262 5 cm
Total volume of solid
| ]
=137 —cm? 2 —om?
37 5 cm + 262 2 cm
=400 cm?

!

|

I

|

M21 60, | 4
tM21 )y

e ———

Let bicycle w x . s
>y y X and ticycle » y
2x + 2y m 64 ()
2% 4 3y =74 (2)
(2)-(1)
Iy - 2y=74 64
y=10

When y = 10
2x 4+ 3(10) =74

2x =74 - 30

2x = 44

x=22
Thus the number of bicycles are 22 and the
number of tricycles are 10

(a) False,2 is a smaller value than 3,2 <3
(b) 1. Ifa>hb,thenu-bsq
ii. Ha- b>0,thena>p
Number of sides = 3,
Number of symmetry = 3
Number of sides = 4,
Number of symmetry = 4
Number of sides =5,
Number of symmetry = 5
Number of sides = n,
Number of symmetry = n

(c)

Conclusion: Number of sides of regular

polygon = Number of symmetry of regular
polygon

60 cm

; uAl
|l

(x +7em )

Volume of aquarium = 48 000 cm’
So,

(x)(x + 7)(60) cm® = 48 000 cm’

x+ Ty = 48000

60
x* + 7x =800
¥+ 7x-800=0
(x—25)(x+32)=0
(~25=0, x+32=0
a1 x =23 v = — 32 (not accepted becaus

-ve)

So the value of x = 25 cm



9 (a)
{(EF)(EG)EH)(EU)(FE)(FG)(F
(G.E)«(G.F).(G.H).f(i.U),(HJfL(HrFL(HiQ,EZ,Z)‘
T )| 2 )‘1

7  Ahmad spent RM31. He bought 2 food coupons |
|
] (U (UF(UGUH)} .

and 5 drink coupons.
Lim spent RM27. He bought 3 food coupons and

I drink coupon.
X = price of one food coupon
(h) (i)

v = price of one drink coupon
{(EF)EG)(EH)(E, U)(U*E)(U»F)(U(“ '
)‘

l ”[:Jz[;-” | (U.H)}

x1__ 1 1 —§)[31 Probability of first card with v _ 8
] 50 ', 305] | | Al
= ( 1(31)—5(27)) _2
2-15\-3(31) + 2(27) ) 5
1 /_

== (F-E)(FUGE(G.UHE)HUY,

B : iy = O

:( 8 ) ; Probability = 20

3 | | 3

10

Thus, the price for a food coupon is RM8 and the

price for drink coupon is RM3 | 10 (a) Diameter = 18 m

; Radius =9 m
8 (a) 2y=3x+15 Circumference = 21r
22
3x+15=0 7
3x=~=135 396
x=-5 - T‘m

Ridwan’s house = (=5, 0)

|
When y =0 ' ' ! ' :
’ =2x—x9m
]
l
| |
School =(3,0) {

3_9}6 P =600m

(b) Radius of large pizza = 14
Area of large pizza = 7r?

Linear equation #y = mx + ¢ at point (3,0)
=22 x (14 cmy’

Distance = 3 — (-3) | P= 600 W 7
= 8 units | 396
=8 km | = 390 1ounds
() 2y=3x+15 | H?O
3 |
3 E = 11 rounds (minimal rounds = 11)
Thus m =—- j .
2 l
i
3 |
0==@3)+& l
2 l
2 +c=0 | 22
2 3 kB x 196 cm’
9+2c=0 | - N -
e =—9 | ‘ =616 cm
c= (_2) . Radius of small pizza =7
2 ! Area of small pizza = nr’
Thus the linear equation 18 | _ 22 (7 cm)?
y=—x | !
T2t Ty | 22
2 s | =22 w49 em?
2y=3x-9 | 7
_ 154 cm?

Area of 2 small pizza =2 x154 cm’
=308 cm’



_’.

6 308
. (112: 1 13 @) () 1217, k(5 1) Ll
: 1 jarge pizza = 2 small pizza K'(2,5) T | -
| ; | ) > K"(-{,9)
" Martin: 100 km in 16 seconds (i) TP, k(5. 1, Y T
L » 18 seconds =9 S‘?vnnds = 9 seconds , I K5 — k™27
: t.) 100 m = 70 m =30 m . ' v
t:ﬂ Average speed of Umar = —-[ll%:?:—'“f
100 m
~ 20s
=5ms’'

b) (i)

........... A _JL l\ i—.ll-ﬁ:— t*l‘f it L
,,,,,, = N O T O N T O
| N EENENEEANEEEEN
(c) (1) y= 15.6 | L1 0 ;ﬁzﬁl_i.i_é,i_ii,lb_i_l@_é;
(i) x=24 <5 ‘
‘ : ~(a) V = 90° rotation in clockwise direction at
(d) ¥ —14x+5=0 } midpoint K(3,7) |
24 14x—5=0 ! (b) W= enlargement at midpoint (1, 6)

— % + (4x + 10x) + (10 -15) =0 | with scale factor =3
' _ P +4x+10=-10x+13 |

Thus, y =-10x+ 15 . |

Erom the graph. the value of xis 0.4 and 3.54



Solution 2

TR T
(1] &

T
-
f

{
—4
L

D~

—-—

()
Frequency

Joa L

(@) 'V = 90° rotation in clockwise direction at

midpoint (6, 6)
(b) W =enlargement at midpoint (7, 9)
~ with scale factor = 3

”

(i)  Area, 90 m* = 32 x area of object
Area KLMNP = 20 = 10 m?
14 (a)
Mass (g) Frequency ~ Midpoint
10-19 2 14.5
20-29 5 24.5
L 30-39 10 345
[ 40— 49 8 4.5
L 50 -59 3 54.5
L 60 — 69 2 64.5

(b) Mean = Total (midpoint x Frequency)
Total frequencies

2(14.5) + 5(24.5) + 10(34.5) + 8(44.5) +
3(54.5) + 2(64.5)

2+5+10+8+3+2

1145
30

=38.17

| | | [ |
f L |
1| o ] ‘ ; | ‘
| I [ ‘ ‘ ‘
(, ‘ \‘ | ! !
(hs l |
R-]“_;J ’ . —
i | * | |
T+ li- 4 \‘ 1‘ |
i It e ' a
6 et
frbg ) |
5—*: ; 1 ‘1
4_..:.35i4_|l 4+ J. ! s I
IS5 i) | ; .
I I e 1 S0 6 (e e
T | AN Ml e
S o 1 ] e
]__Il;;_ L4PRS] -——i-y, o B e ‘ il
A.'w: ! ; % : “lr ‘ I[ 1
- 145 245 345 445 545 0645 MaSS of
Strawberrieg
(d) The number of strawberries with mass more
than 50 g
=3+2
=5
15 (@) MmLG 5cm ¥
4cm
JIH NIK/E
(b) (i)
' M NIP
I cm
2cm RIO :
I cm
JIL
S5em .-
Sl 5 cm FIG e T



(i1)

K7

F/H

N

- PIM

lcm

1 cm

6 cm

2 cm

2cm

FIG

16 (a)
(b)

(c)

(d)

(70° §,20° W)
/ MOL = 180° - 50° — 50°
= 80°
Distance LtoM = 80° x 60
— 4 800 nautical miles

Distance J to K
=(20°+ 120°) x 60" x cOs 70°
— 140° x 60" x cOSs 70°

= 2872.97 nautical miles
distance ravelled

otal distance travelieS.
taken

Average speed - Total time

2

800 =525
x=4 200 nauti
LtoP= 4 200

cal miles



